
https://www.geekcert.com/hp0-s41.html
2024 Latest geekcert HP0-S41 PDF and VCE dumps Download

 

 

 

HP0-S41Q&As

Building HP Server Solution

Pass HP HP0-S41 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hp0-s41.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HP0-S41 PDF Dumps | HP0-S41 VCE Dumps | HP0-S41 Practice Test                                1 / 3

https://www.geekcert.com/hp0-s41.html
https://www.geekcert.com/hp0-s41.html
https://www.geekcert.com/hp0-s41.html


https://www.geekcert.com/hp0-s41.html
2024 Latest geekcert HP0-S41 PDF and VCE dumps Download

QUESTION 1

In a Blade System enclosure, which component allocates power to the device bays based on the specific configuration
of each blade? 

A. PCIExpansionBlade 

B. Insight Display 

C. Onboard Administrator 

D. Interconnect Module 

Correct Answer: C 

 

QUESTION 2

Which features are provided in HP Gen9 servers that were not available in HP Gen8 servers? (Select two. ) 

A. E3J40 Gb Ethernet 

B. NX/DIMM 

C. Flexible L0M 

D. ILO4 

Correct Answer: CD 

 

QUESTION 3

Which HP Blade System management option allows access to the iLO graphical console foe all server blades in the
enclosure? 

A. HP System Management Homepage 

B. Onboard Administrator 

C. Virtual Connect Manager 

D. Insight Display 

Correct Answer: B 

 

QUESTION 4

What are the benefits of implementing bladed architecture instead of traditional rack mount servers, (Select Two?) 

A. Shared memory architecture 
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B. Shared power and cooling 

C. Lower initial capital cost 

D. More predictable MTBF [3[higher compute density 

Correct Answer: AC 

 

QUESTION 5

Which protocol defines accessing storage over Layer 2 Ethernet? 

A. SAS 

B. SCS1e 

C. FCoE 

D. iSCS1 

Correct Answer: D 
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